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Instructions : All questions are compulsory. There are 22 questions.

(i) T FHHG 1Y 7 T ATTTEAT T € | T U9 H 1 37 feifa §1
Question Nos. 1 to 7 are very short answer type questions. Each
question carries 1 mark.

(iif) T HUTH 8 ¥ 13 T YSTIT T ¢ | Toush U B 3 ik fauffia €1
(I T Iee—HIHT 50 T=a] I §)

Question Nos. 8 to 13 are short answer type questions. Each question
carries 3 marks. (Maximum word-limit of answer is 50 words)

(iv) T hHH 14 ¥ 20 T HSTIT W € | ok U9 | 5 ek fAuif| €
(TR it IE-GT 750 V=a T § )

Question Nos. 14 to 20 are long answer type questions. Each question
carries 5 marks. (Maximum word-limit of answer is /50 words)

(v) ¥ HHE 10, 16, 18, 20 Td 22 | i faered faw 7w € |
In Question Nos. 10, 16, 18, 20 and 22 internal options are given.
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(vi) gTfte sifea B, fo9 woei & gmfes siea stoen ant=s feu e €, s
T W 37! gfafg/fovrediet o 1-1 fowg foae |
Visually impaired students will write 1-1 point of speciality of that
places in the map-making questions.

(vii) a0 A S SESAT T 6 I, AT Td aUH & TIM R had
fogam fag |

Hearing impaired students will write the long answer type questions

with points only.

(viii) T SHHTR 21 ST 22 TR HiIve R Aenfa € | o fafea fagedi &1
TEEN HE SR YR A § | T T | 5 ofh fuifa
Question Nos. 21 and 22 are related to identification or locating and
labelling of map, carrying 5 marks in each question.

TIT-1

U -2

-4

UH-5

YIT-6

WI-7

Y-8

Jet fordt ad € 2 [1]
What do you mean by the death-rate?

eI Wiel ekt Yerehieh 1 Wh hel § 8l doh eidl § 2 [1]

What is the average score of human development index?

fiedt & o, foreusrt Td a9 & 9mH fHad gefid € 2 [1]

Making clay utensils, crafts and bamboo items are related to which industry?

T 2011 T SITTUAT o6 3TTER YRA o [oh€ T4 H SAHEAT = Faifeeh

g2 [1]
According to Census of 2011, which state of India has the highest
population density?

TR St forTera i St o1 A o 2 [1]

What is the name of largest slum area in Asia?

SATE | Fod 31fueh @it el ur =i § 2 [1]
Where is maximum amount of minerals found in Chhattisgarh?

TG I & T HIRT | hel Sl T 2 [1]
Why Chhattisgarh is called Bowl of Rice?

T STaTa S |1 =T ¥ 2 [3]

How is sex-ratio measured?

NM-40A+



[3]
UgA-9 IR YLl o aior gRT Ui Rl o e U B © 2 [3]

What are the benefits nations get by forming trading blocs?

YgA-10 ST Zi-shiveiea samm R feoquft fafau | [1+1+1=3]

Write note on Australian Trans-continental Railway.

sfgar
OR

TH-TRAET YeHr R feut fafe |

Write note on Trans-Siberian Railway.

ToA-11 i fQu e foa il @ g9l o I N [1+1+1=3]

(37) =9 A i qfaeyq ot 9M ey |
(7) ¥ gfaeq el W faed € 2
(T) 39 9fd®y i T TR fafan |

Study the diagram given below and answer the following questions :

(a) Write the name of the rural settlement pattern.
(b) In which areas do you find the rural settlement pattern?

(c) Write one characteristic feature of the settlement pattern.
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St Td garet iR fUsel e & ST {aR Jarl § SR aarsy | [1%4+1%= 3]

Write the differences between life-time migrant and migrant by

last residence.

foRdll I Wl ot 8o fohe WhR T ST Fhell © ? [1+1+1=3]

How an urban package can be identified?

ORd § Ufaed & e[ hiA-ohA 9 € 2 I IRagd &1 gfad E a5
T k] T U HITTT | [2+1+1+1=5]

Which are the means of transport in India? Describe the factors

affecting the rail transport (any three).

STA-HR JSEA 1 § ? 1 379 Wied € foh I8 Haq qrovia fae™ § Tt
YUl YfHehT 37T T Fhall § 7 [2+3=5]
What is watershed management? Do you think it can play an

important role in sustainable development?

(a)

SHifshen 1 TshHUl O Hetyd fagid o1 gfaues wayey feaq foan?
STITeheh 131 GhHUT i < STIETSAT h1 S0 iU | [1+4=5]

Who has given the theory of Demographic Transition first time?

Describe the demographic transition of three stages.

sTar
OR

e fowm & dhod fha U&d &2 3 IR Wl &l AT
IS |

Who has given the concept of Human Development? Explain their

four pillars.

e el i IR foad gU A1 il < fowe &5 sl Soeet | [2+3=5]
Write the definition of Human Geography and explain the scope of
human geography.
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TS TR TS STy R[ATer o 1 379 § 2 Serars qg[emrol qef

SIS YIaTe | SR IdE (hiE i) |

What do you mean by livestock farming and commercial animal
husbandry? Write the differences between livestock farming and

commercial animal husbandry (any three).

sfear
OR

ZEHT I Hft Ta goh TRIFHT H T =1 AR T ? A i T Ih
TIfHT i H lE diF =R fafaw
What do you mean by Commercial Agriculture and Truck Farming

Agriculture? Write any three differences between commercial

agriculture and truck farming agriculture.

TEH | T AR ¥ ? YU fohed YhR F g € 2 fRE ww yguo &

[2+3=5]

R0l W& M fafaT | [1+1+1%+1Y%=5]

What is meant by pollution? How many types of pollution are there?

Write the reasons and diagnosis of any one pollution.

I | Tl Uit < qeard iy foem sl wgerqul fifaai =61 =oH

IS | [1+1+1+1+1=5]

Describe the important strategies for agricultural development

followed in the Post-Independence period in India.

sfear
OR

(aWal

I H -USra TI9RT §RI1 ST9HIT 7T -3 9A1T 1 0 HifST |

Describe the use of the land adopted by the department of land

revenue in India.
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yg-21  fowa o USHifae SR AFteas § ST e = foagetl ot qeam aon

IR A 37O IT-gRaet § ford - [1+1+1+1+1=5]
(A) oTHhIT TETEIY T Tor a1 Sl STeT <91

(B) TH fore TR

(C) TG-hidHea X 1 3ifad M

(D) T AR T TS

~ N

(E) U 981 SeTTE

In the given political outline map of the world, identify following

points and write their names in your answer-book :

(A) The country with largest area in Africa continent

(B) A megalopolis

(C) The terminal station of Trans-continental Railway

(D) An international airport

(E) A major sea port
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Yg-22 BTG o Taifeha AMtas ¥ =ifhd i =T U1 I8 19 S9!

S-Yfrent # fafa : [1+1+1+1+1=5]

(A) TiIeERT 7t St T HeTdeh At

(B) TdTESI 1 G- 3TTH GSH

(C) wewel W fafifq e afEer

(D) SUETE hl Heamt

(E) S<iETg 1 THH S i

In the sign marked map of Chhattisgarh, identify the following and

write their names in your answer-book :

(A) Main tributary river of Godavari River

(B) Iron-ore mines of Dantewada

(C) Dam project on Mahanadi River

(D) Power hub of Chhattisgarh

(E) Only one jute mill of Chhattisgarh

NM-40A+



[9]

P.T.O.

~ Ughe
C - i Y
" S
= }
I ‘/
h A 7o
P g A ¢ ~
7 y /A B
o s
b P N -
7/ PN fv: o IS
o
1] 4 y
it S i = 3 4
s B { oy e
Ve Y »..!(... m .\r..._»a ! £ -
]
w- ; Ly J..*aln\allio!o .\- ; r
o i \ ha LS 1 e
s N M &Y AN
EEN P ’ Y Bt 1
J Y 153 - < y g /
- AN H %, A 1 ;
" '
A PO © V|
! oy
L. ot ”. F 4 { ™
/— At it TV D f. { 3
*.. 1 Ms ; Jf
} } s A «
¢ K 1] o Y >
“ 5 H Novman ] \
¢ ) ) y T
i3, .
; Y y
” 4 ¥ ] . [
R Y G A
¥, P S \1\\»?" - |y Ml.i A
N 5 /- v Y s Y 1
: (S AR VN O T
g8 ~ L
P \, S Na
t® S h ’, «m ur..i.»z@ S
P ot
~_If:\ at!’%f\u; .(cn!.
-
4
4 o 4 :
£ e 4 2
a g N
fn\.,.) 4 A
H
' oy, ]
ed -~

NM-40A+




[10]
sTeqar

OR

YR S TTHITdeh SRR A 8§ fefeiad sl 9d1 e Te Hehdl o

WY ATA B

(A) SUETEG h T TSI A IAGH &3

(B) YIRd 1 §aId ¥ AAB el T

(C) TR ¥ aUsiy gars 3Tgel

2

(D) YRA 1 Halye A IAEH T

(E) <faolt Yeta SiF &l e

In the given political outline map of India locate and label the

following with symbols :

(A) The major coal field located in Chhattisgarh

(B) The state having the smallest area in India

(C) The international airport in Maharashtra
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(D) The most tea producing state of India

(E) The Headquarters of Southern Railway Zone

oooooooooo
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